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1 0098 |0.098 | 0097 |[0.098 |0.129 |0.128 | 0.128 |0.127 [0.152 | 0.150 |0.150 | 0.151 | — — — -
2 0097 [0.099 |0.097 |0097 [0.127 |0.128 [0.128 | 0.128 | 0.151 [0.152 | 0.151 |0.153 | — — — —
3 0099 0098 [0.100 |0.100 [0.128 |0.130 [0.130 [ 0.130 | 0.153 [0.152 | 0.153 |0.153 | 0.14 | 0.15 | 0.15 | 0.14
4 10109 [0.112 |0.103 |0.097 | 0.140 |0.141 [0.132 | 0.125 | 0.158 [ 0.159 | 0.153 |0.149 | — — — —
5 10097 0096 |0.097 |0096 [0.125 |0.127 [0.125 [ 0.125 | 0.150 [ 0.150 | 0.149 |0.150 | — — — -
6 |0.096 |0.097 [0.098 | 0098 [0.126 |0.126 [0.127 [ 0.129 | 0.152 [ 0.150 | 0.149 |0.151 | — — — —
7 0103 [0.101 [ 0.104 | 0096 [0.132 |0.130 [0.133 [ 0.125 | 0.154 [0.153 | 0.154 |0.150 | — — — -
8 |0.095 [0.095 [0.094 | 0094 [0.124 |0.125 [0.125 [ 0.124 | 0.149 [0.148 | 0.148 |0.150 | — — — —
9 |0.094 | 0096 |0.095 |0.095 |0.124 |0.127 | 0.126 | 0.125 | 0.150 | 0.149 | 0.149 | 0.150 | — — — —
10 [0.096 | 0.098 |0.096 | 0.098 |0.126 |0.128 | 0.126 |0.127 | 0.151 | 0.151 [0.149 |0.150 | 0.12 | 0.13 | 0.16 | 0.13
11 |0.100 | 0.103 | 0.095 | 0.096 | 0.129 | 0.131 | 0.125 [ 0.125 [ 0.150 [ 0.151 [0.149 [0.149 | — — — —
12 [ 0.094 | 0.096 |0.094 | 0.096 |0.124 [0.127 |0.126 |0.128 | 0.148 | 0.149 [0.149 |0.150 | — — — —
13 |0.095 | 0.095 | 0.094 | 0.095 | 0.125 | 0.125 | 0.124 [ 0.125 [ 0.149 [ 0.147 [ 0.148 [0.150 | — — — —
14 [0.095 | 0.094 |0.095 | 0.095 |0.125 [ 0.126 |0.126 |0.125 | 0.151 | 0.150 [0.149 |0.150 | — — — —
15 |0.094 | 0.095 | 0.095 | 0.096 | 0.126 | 0.128 | 0.126 [ 0.129 [ 0.150 [ 0.150 [ 0.151 [0.152 | — — - -
16 [0.096 | 0.097 |0.097 | 0.096 |0.127 [0.127 |0.129 |0.126 | 0.151 | 0.150 [0.152 |0.151 | 0.12 | 0.13 | 0.16 | 0.12
17 |0.095 | 0.096 | 0.096 |0.096 | 0.126 | 0.128 | 0.128 [ 0.126 [ 0.151 [0.150 [ 0.152 [0.151 | — — - -
18 |0.095 | 0.094 [0.094 |0.096 |0.127 [0.126 |0.127 |0.127 | 0.152 | 0.152 | 0.150 |0.152 | — — — —
19 |0.096 |0.097 [0.095 |0.096 |0.128 [ 0.130 |0.128 [0.128 | 0.151 | 0.151 [ 0.151 |0.152 | — — — —
20 |0.096 [0.097 |0.095 |0.097 |0.128 |0.130 [ 0.129 |0.129 [0.153 | 0.152 | 0.152 [ 0.153 | — — — —
21 10097 [0.101 |0.097 |0.098 | 0.129 |0.134 [ 0.130 |0.130 [0.153 | 0.156 | 0.153 [ 0.153 | — — — -
22 10098 [0.097 |0.096 |0.095 |0.130 |0.130 [ 0.129 |0.128 [0.154 | 0.153 | 0.154 [ 0.154 | — — — —
23 |0.096 [0.096 |0.096 |0.095 | 0.128 |0.130 [ 0.128 | 0.128 |0.154 | 0.153 | 0.153 [0.153 | 0.14 | 0.14 | 0.15 | 0.14
24 10097 [0.096 |0.096 |0.095 |0.129 |0.130 [ 0.128 |0.128 [0.156 | 0.154 | 0.152 [ 0.154 | — — — —
25 |0.096 | 0.096 |0.096 |0.097 |0.129 |0.130 [ 0.130 |0.129 [0.154 | 0.153 | 0.153 [ 0.155 | — — — -
26 |0.097 [0.098 |0.098 |0.097 |0.130 |0.130 [ 0.130 |0.130 [0.155 | 0.155 | 0.154 [ 0.155 | — — — —
27 |0.096 |0.098 |0.097 [0.100 | 0.129 |0.131 [0.130 |0.132 [0.155 | 0.154 | 0.155 [ 0.157 | — — — —
28 |0.098 [0.097 |0.096 |0.097 |0.130 |0.130 [ 0.130 |0.128 [0.155 | 0.155 | 0.154 [ 0.155 | — — — —
29 |0.096 [0.096 |0.096 |0.096 | 0.129 |0.129 [ 0.127 |0.130 [0.156 | 0.155 | 0.154 [ 0.155 | — — — —
30 |0.097 [0.098 |0.096 |0.100 | 0.129 |0.131 [0.129 |0.133 [0.156 | 0.156 | 0.154 [0.155 | 0.13 | 0.14 | 0.14 | 0.14
31 |0.096 [0.096 |0.096 |0.096 |0.128 |0.130 | 0.127 |0.129 [0.153 | 0.153 | 0.151 [0.153 | — — — —
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